RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approval of presentation of the Focus Group Findings at the United States-Mexico Border Health Association LVIII-58-Reunion Annual (International Forum) in Hermosillo, Sonora, Mexico in May, 2000)

RESOLUTION NO. 2000-161

1	WHEREAS,	the Tohono O'odham Legislative Council approved Resolution 99-519 on September
2		27, 1999 which supported the Executive staff's effort to conduct a Focus Group Study
3		and Health Assessment and accepted fifteen thousand dollars (\$15,000) from Indian
4		Health Service to conduct the Focus Group Study with members residing in Mexico;
5		and
6	WHEREAS,	the Tohono O'odham Legislative Council approved Resolution 99-520 which
7		supported the First Tri-national Health Fair in Sonoyta, Mexico, October 15, 1999 by
8		authorizing twenty two thousand five hundred fifty dollars (\$22,550) and allowed
9		unexpected funds from the Tri-national Health Fair budget be made available to the
10		Focus Group Study to support additional sessions; and
11	WHEREAS,	two health fairs occurred in Mexico; one in Sonoyta, Mexico on October 15, 1999 and
12		the other in Puerto Penasco (Rocky Point) on February 25, 2000; and
13	WHEREAS,	four focus groups were conducted as planned by the Nation with assistance from
14		Indian Health Services, the Centers for Disease Control and the Tohono O'odham
15		Department of Human Services: the first group session was held in Sonoyta, Sonora,
16		Mexico with a cross-sectional tribal membership; the second and third groups were
17		conducted in Sells, Arizona with US Health Care Providers and Mexican Health Care
18		Providers respectively; and the fourth group was conducted in San Francisquito,
19		$Sonora, Mexico\ with\ a\ cross-sectional\ tribal\ membership\ of\ rural\ communities;\ and$
20	WHEREAS,	due to the involvement of the Secretary of Health, Sonora Region, Mexico, the
21		Centers for Disease Control and Indian Health Services the Focus Group Project has
22		received international recognition; and
23	WHEREAS,	the Tohono O'odham Nation has been invited to present preliminary findings at the
24		United States-Mexico Border Health Association LVIII-58-Reunion Annual
25		(International Conference) in Hermosillo, Sonora, Mexico.
26	NOW, THER	EFORE, BE IT RESOLVED that the Legislative Council of the Tohono O'odham Nation
27		has reviewed the Focus Group reports and approved and authorized to be presented
	1	

	(Approval of presentation of the Focus Group Findings at the United States-Mexico Border Health Association LVIII-58-Reunion Annual (International Forum) in Hermosillo, Sonora, Mexico in May, 2000) Page 2 of 3								
1	by the Executive staff at the LVIII-58-Reunion Annual (International Forum) in								
2	Hermosillo, Sonora, Mexico on May 3, 4, and 5, 2000.								
3									
4	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 06^{TH} Day								
5 6	of <u>APRIL</u> , 2000 at a meeting at which a quorum was present with a vote of <u>1,902.6</u> FOR; <u>-0-</u> AGAINST;								
7	262.9 NOT VOTING; and [02] ABSENT, pursuant to the powers vested in the Council by Section 1 (1) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham								
8	Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs								
	(Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).								
10	TOHONO O'ODHAM LEGISLATIVE COUNCIL								
11	TOHONO O ODRAM LEGISLATIVE COUNCIL								
12 13									
14	Len								
15	Dennis Ramon, Legislative Chairman								
16									
17									
18									
19									
20	ATTEST:								
21									
22									
23	Julia Mary								
24	Julianna Saraficio, Acting Legislative Secretary								
25									
26	06 day of 1 suf, 20 00.								
27									
28									
29	Said Resolution was submitted for approval to the office of the Chairman of the Tohono								
30	O'Odham Nation on the /O day of / 20 00 at 2:37 o'clock,								
31	f.M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become								
32	effective upon his approval or upon his failure to either approve or disapprove it within 48 hours								
33	of submittal.								
34	TOHONO O'ODHAM LEGISLATIVE COUNCIL								
35 36	TOHONO O OPILLE LEGIOMATICA CONTROL								
30 37									
38	An An								
39	Dennis Ramon, Legislative Chairman								
40									
41									
42									

(Approval of presentation of Association LVIII-58-Reunion 2000) Page 3 of 3	the Focus Group Findings at the United States-Mexico Border Hean Annual (International Forum) in Hermosillo, Sonora, Mexico in 1
[/] APPROVED	on the 12th day of April, 2000
[] DISAPPROVED	at Co. 54 o'clocky M.
	EDWARD D. MANUEL, Chairman
	TOHONO O'ODHAM NATION
Returned to the Legislative	Secretary on the <u>/2</u> day of
My	, 20, at
Xul Jan	
Julianna Saraficio, Acting Le	pgiclativa Cacratavy
Junainia Sarancio, Acting Le	egisiative Secretary

ACTION: APPROVAL OF PRESENTATION OF THE FOCUS GROUP FINDINGS AT THE UNITED STATES-MEXICO BORDER HEALTH ASSOCIATION LVIII-58-REUNION ANNUAL (INTERNATIONAL FORUM) IN HERMOSILLO,

SONORA, MEXICO IN MAY, 2000

MOVED: COUNCILWOMAN FRANCES ANTONE

SECOND: COUNCILMAN ALBERT MANUEL JR.

DATE:

APRIL 06, 2000

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85,9	X			
	2. RITA MARTINEZ (Nicholas Jose)	85.9	X			
SELLS 372.7	1. DENNIS E. JOSE	186.35	X			
	2. EVELYN JUAN ()	186.35	x			
SCHUK TOAK	1. MARY FLORES	66.7	X			
133.4	2. AMBROSE ENCINAS	66.7	X			
SAN XAVIER	1. TONY BURRELL	82.95	X			
165.9	2. DENNIS RAMON ()	82.95	X			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	х			
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	X			
GU ACHI 209.6	CAMILLUS LOPEZ (Louis Johnson)	104.8	X			
209.0	2. ALEX J. RAMON ()	104.8	X		X	
PISINEMO 156.8	BARBARA SALVICIO (Alex Antone)	78.4	X			
130.0	2. JOHNSON JOSE	78.4	X			
SAN LUCY	1. ALBERT MANUEL, JR.	64.05	X			
128.1	2. GLORIA RAMIREZ ()	64.05	X			
GU VO	1. FERN SALCIDO	80.0	X			
160.0	2. GLORIA MONTANA (Phillip Antone)	80.0	X			
HICKIWAN	1. ALEX JOSE (Shirley Santos)	79.05			х	X
158.1	2. LLOYD FRANCISCO (Susan Sam)	79.05			X	
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	X			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	X			X
Te	2,165.5	1902.6	-0-	262.9	[02]	